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2,000,000, 000& 14! 2,000,000
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402 RIZ2EX201 A 18,000 15,000 3,000
01 It t2 AP E X 18,000 15,000 3,000
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18,000, 000& 14! 18,000
CHSHPOP HEFHIAEIY JHE 16,000 16,000 0
201 €2l 16,000 16,000 0
03 A2 Z Hl 16,000 16,000 0
OMHEPOP HSTHIAEIY JHE 16,000, 000& 16,000
dIHL2DIUE(EX) 47,000 47,000 0
< 15,000
Al 32,000
307 glz2tol & 47,000 47,000 0
= 15,000
Al 32,000
04 QIZFHALAIH E = 47,000 47,000 0
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< 15,000
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Al 49,000
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OMIOBLIM Y HAEIE(MAIZSH)
100,000, 000& 100,000
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O3.2d==¢ 12,600
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- HE AR AR FHxE
70,0003 30 #23] 4,200
O5.2 &l 5,040
-—SHELLR OIA2RA =24
7,000 «5Hx 122 «12& 5,040
O6.9 1tz 18,000
—SL=EN SASEEH X
5,000,000% = 1CH 5,000
—SL=EHM AP =SHA J X
500,000 »26CH 13,000
02 2324gHl 16,920 16,920 0
O1.332LHA 15,600
=SH3XNHI)s 23 12,500, 000& 12,500
= M3 RERS 10,000& 40 400
-HAZA HRE REZ
15,0002 x 150 S Al «12& 2,700
O3. A€ ZHI =Xt 1,320
-l 2 X0 Al EHOIX RXE==H
15,000,000 *8%=*1. 1 1,320
03 &Ar2 I 24,430 14,430 10,000
Oxg Mg ¢ 2,430,000 2,430
OXNMMRS Al ZEUE HA 20,000,000& 20,000
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01 2L Y| 7,200 5,040 2,160
O=ZHEEALE=& HH|
60,000& *5H 32 x83] 7,200
03 22 HR20H| 47,000 47,000
OHM123] OlEHE= AIMOIE S 9 & D}
1,500,000& «3H 4,500
Os=0F JIHASE EZAlS 2 &I}
2,000,000 x3H 6,000
O&tsdll HEZAZ S ZIt 1,500,000& *3H 4,500
Ol X0 SSTA BFUS
3,000,000& *2H x4 3| 24,000
ONEEAA lAsY FA0MHI
2,000,000& *x1H %4 3| 8,000
301 dEtE A= 49,020 59,930
06 212to1 =22 (4 bl 3,300 7,500
OGYUXN2UA cHA=Z2HRE L SAIR =3
O bl 3,300,000& x1H x13| 3,300
07 2B =H 0| 40,600 42,760
OZ2MEHAL 28 =& 0| 22,950
-z 8HH| 18,000
=4l 250,000 *3H *3 53] 11,250
e 75,000 *6H *3 «53] 6,750
—AlY]| 4,950
=gl 50,0003 *3H *3 «53] 2,250
L 30,000 *6H 3 x53] 2,700
OSLEHMEA HAXNMRS Al 28I =0 12,000
—= 8HH| 7,800
ZF=ul 250,000 x 1H *32 81 & Al 6,000
C @ 75,0003 x1H *»32 8 &= Al 1,800
—AlH]| 4,200
° =4l 50,000& *30Y 23| 3,000
=R 30,000& 20 23| 1,200
O=F¢& Au& =& 0ol 5,650
—-= 8| 3,250
4l 250,000 x10H 1 2,500
C P 75,000& x10Y¥ » 1 750
—-AlY]| 2,400
° =4l 50,000& 10 33| 1,500
= 30,000& 10 33| 900
09 HAIAH EA= 5,120 5,120
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201 Bt A | 14,000 8,760 5,240
01 At 22l Yl 3,000 8,760 N5,760
O6.9xtz 3,000
-HAO R & MAHABSFH =4 X
500,000& x1H x6& 3,000
02 =294l 1,000 0 1,000
O1.33224HA 1,000
A0l 18 ¥ MASFI Ao BEE=
1,000,000& 1,000
03 At L 10,000 0 10,000
Ogt-=-21-¢ 23tu: HAEHY
10,000, 000& 10,000
202 O B 4,000 4,320 A 320
03 =220l 4,000 0 4,000
OclAlIOF IIASRA H=0 I
1,000,000 x 1 *23| 2,000
OclAIOF IIASRA S X =SEHI
1,000,000 x 1 *23| 2,000
301 dEtE A= 9,075 3,300 5,775
07 2Bl=&=0H| 9,075 0 9,075
Ogt-5-21-2 23S HAEY ExH 9,075
—-= ghH| 4,275
=4l 250,000 *3H *3 2,250
C YR 75,000& x9Y 3 2,025
Ay 4,800
=4l 50,0003 x4 3 x23| 1,200
C P 30,000& 20 x3 x23| 3,600
303 ZAZ 6,000 0 6,000
01 2o 2 6,000 0 6,000
OHAIOF NS MEH|
1,000,000& x 15 »6& 6,000
308 XX S M SO0I & 390,000 390,000 0
07 MAXHN2AESL S 390,000 390,000 0
ONEAR(SEO0HAIXIEH oS ) 2" B2
1,300,000,000& *30/100 390,000
g=azdM 2231 L NJMMEA B8 23 78,490 82,130 N 3,640
201 LEt2 Y| 33,700 35,380 A 1,680
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O1.dBtx=2H| 25,200
A2 FI LExZ2H| 5,400,000 5,400
—mEpE 2ES AR 10,800
C AT ME 2,000& *3,150% 6,300
T EE 2IEH 2,000& =2, 2504 4,500
-2 =28 JlEss 9,000,000 9,000
O6.9xtz 7,500
FIT(LEI N SRHS#)EAHHA 500,000 *15CH 7,500
02 352494l 1,000 1,000 0
O1.22222HA 1,000
-2Z2EEE 2L gs5= 1,000,000& 1,000
202 04| 18,200 20,160 A 1,960
01 2LH0HI 1,800 2,160 A 360
OZZAZSIHYE & SLREQ
60,0003 *1H *x32 *103 1,800
03 =220l 16,400 18,000 A 1,600
Oz X X HAHE & JEA S50
= 1,500,000% x1H *83| 12,000
OgE MASRA LA HA=20H|
1,000,000 x1H *23| 2,000
OMtAZBRA X &&HI 800,000& x1H 33| 2,400
301 dEtEAZ 26,590 26,590 0
06 @12tol = 2| (4 HI 22,000 22,000 0
O«LEaXieA H2AEd=sla UsEs &2t
(005 1,000,000& 15 50/ 100 7,500
OLEXNUMEA BAESAHO wBEES EFIt
O bl 1,000, 000& 20 50/ 100 10,000
OLE2XNUMEA S30=C nsegs XA
900,000& 10 50/ 100 4,500
07 Q8= 04 b 2,430 2,430 0
Odz=adeds =30l (AH]) 2,430
-4l 50,0003 *3H x3 *33] 1,350
-3 30,000& *4H 32 x33] 1,080
09 HAIAH EA=S 2,160 2,160 0
Oz H2ZHM2X SHUNASAAL AU 24
20,0003 *3H 32 x123] 2,160
= R LN 21,600 21,600 0
201 et A | 8,725 8,725 0
03 SHALS H I 8,725 8,725 0
OgeE JI2HH HEN 1,745,000& 53] 8,725
301 dBEtE A= 12,875 12,875 0
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oAz 116,769
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=22 70,000 »2H 118 «1/2 8,260
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e = 2,940
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-2t 50,0008 «2% « 12 1,200
OZEs Mgz 22 22,620
-les 892,550 « 1% » 128 10,711
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A M2
FH: HH2AZH (A 20 0H) (J1EH/DIEF)
S EEESNES -
H . ool () - NIRAY - B il
A= 892,550 * 12 x400% 3,571
-YE SOt 892,550 1 «120% 1,072
- UG A 130,000 x1H x12& 1,560
RGPS = 53,2003 x1H 16 852
-=FE 41,0403 x 1«52 2,135
224 892, 5503 18 #25%+23] 447
SR a] 892,5503 1 x10%+12& 1,072
W S8 AH| 70,000 x1H x12& 840
-25Jtel= 30,0003 x1H «12& 360
Ogaa ztel 24,857
-Jles 902,550& x 18 128 10,831
A= 902,550 * 12 x400% 3,611
-YE F Ot 902,550 12 «120% 1,084
-F W FZAlY| 130,000 x1H x12& 1,560
-HAx= 54,0803 x 1 +16L 866
=54 41,5003 x 1 «52=F 2,158
R = 60,0003 x2H x12& 1,440
-22sg 902,550& *1H x50%*23| 903
—-Hl & EhE 902,550 & x1H x10%+ 12& 1,084
-wE 22| 70,0003 x 18 «12& 840
-2 HIHAZ 40,0003 x 1 128 480
Jl2du(Z gz 2Zn) 65,700 43,930 21,770
= A2l 6,060 4,930 1,130
201 L2l 6,060 4,930 1,130
01 At 22|l 5,580 4,450 1,130
ORAN2Y Let+=EH| 4,040,000& 4,040
ORA2Y =2l 1,540,000& 1,540
02 2322l 480 480 0
ORN2YE 2223 480,000 480
AR F=A I 55,440 36,000 19,440
202 oddl 55,440 36,000 19,440
01 = LH &4 1l 55,440 36,000 19,440
OFRAPFAAHL 20,0003 *21F 11 «12& 55,440
e Na] 4,200 3,000 1,200
203 R F&H| 4,200 3,000 1,200
04 BENSSIHRF=EHI 4,200 3,000 1,200
ORMN2YLRFALI (A :22Y)
350,000& x12& 4,200
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